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A 4.0 kg block is droppeJ from a height of 40 cm onto a spring of spring constant k. If
the maximum distance the spring is compressed = 0.15 m, find the value of the
spring constant k.

(solve the problem using the work energy theorem)
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The speed of the particle of mass 2 kg at x =2 m is 30 m/s. 1.
What is the speed of the particle at x = 6 m? oo
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A car accelerates from zero to 35 m/s in 2.0 s. Assuming the same average power is
delivered by the car, how long does it take to accelerate it from zero to 80 m/s.
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